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#include <stdio.h>
#include <conio.h>
#include "m308.h"
#define ADR 0x01d0
#define k1 -83.19
#define k2 -2.06
void main( void)
(v e e
float delta_t=0.006
for(:;){
while((status & 0x01) ==1) {
GetCNTStatus( ADR, &status ):}
StartAl(ADR,0); @®
GetAlData(ADR, &ch0);
FAx SO EOZE/{E@mm) ¥/
delta_x=10.0-20.0/0xffe*chO;
f*vel : FKEKDEE (m/s)*/
vel=(delta_x - delta_xold)/(delta_t*1e+3);
Fu: BER*
u =0.80-k1*delta_x*1e-3-k2*vel;
delta_xold = delta_x;
I*DIA R— R ADIESELEE
Vequ = 2.137*u;
aodata =(Vequ+10.0)*0xfft/20.0;
RS A NADIEHT—4 1%
SetAOData(ADR,aodata);
GetCNTStatus(ADR, &status);
while((status & 0x01) 1=1){ ®
GetCNTStatus( ADR, &status);}
RstCNTStatus(ADR);

}
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